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Solutions
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1. Determine the vertex and the direction of opening for each quadratic

funcrion. Then state the number of zeros.
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a) flx) =2x* —6x— 7

3. Calculate the value of # — 4ac to determine the number of zeros.
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4. Determine the number of zeros. Do not use the same method for all

3 four parts.
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5. For each profit function, determine whether the company can break even. If
B the company can break even, determine in how many ways it can do so.
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6. For what value(s) of £ will the function f(x) = 3x? — 4x + k have one
x-intercept?
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